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(07) 

50 x 2 = 100 
50 x 3 = 150 
50 x 4 = 200 

5 x 50 = 250 
6 x 50 = 300 
7 x 50 = 350 

50 x 8 = 400 
50 x 9 = 450 
50 x 10 = 500 

 

• Calcule : 
 

5758 9 
x       6 
4 7 3 4 

 

33 9 0 
x       4 
1 5 6 0 

6547 5 
x       8 
4 6 0 0 

6658 8 
x       7 
4 8 1 6 

3914 2 
x       9 
8 4 7 8 

1833 7 
x       5 
4 1 8 5 

 

34017 2 
x         6 
1 8 4 3 2 

 

3415 2 1 
x         7 
3 1 6 4 7 

9 120 4 
x         5 
4 5 5 2 0 

2143 7 0 
x         7 
9 5 9 0 

91125 8 
x         3 
2 7 4 7 4 

43129 6 
x         4 
1 6 7 8 4 

 

• Complète : 
 

3126 4 
x       5 
8 2 0 

1232 5 
x       6 
1 3 5 0 

7529 3 
x       8 
4 7 4 4 

1325 8 
x       3 
 1 0 7 4 

840 6 
x       8 
6 4 4 8 

34 8 2 
x       4 
1 9 2 8 

 
 

1224 8 
x     3 
7 4 4 

330 5 
x       6 
1 8 3 0 

1622 7 
x       4 
2 5 0 8 

1832 7 
x       5 
4 1 3 5 

43073 9 
x         8 
3 2 3 1 2 

17 220 3 
x         9 
6 4 8 2 7 

 
 

• Pose en colonnes et calcule les opérations suivantes : 
 

    

342 x 3 = 1 026 510 x 4 = 2 040 361 x 5 = 1 805 352 x 2 = 704 

1
3 4 2 

x       3 
1 0 2 6 

 
 
 
 
 

5 1 0 
x       4 
2 0 4 0 

 

3
3 6 1 

x       5 
1 8 0 5 

 

1
3 5 2 

x       2 
7 0 4 

 

    

684 x 6 = 4 104 506 x 5 = 2 530 447 x 8 = 3 576 930 x 7 = 6 510 

5
6
2
8 4 

x       6 
4 1 0 4 

 
 
 
 
 

5
3
0 6 

x       5 
2 5 3 0 

 

3
4
5
4 7 

x       8 
3 5 7 6 

 

2
9 3 0 

x       7 
6 5 1 0 

 

    

8 x 3 841 = 30 728 9 x 5 049 = 45 441 7 x 4 830 = 33 810 6 x 4 513 = 27 078 

6
3
3
8 4 1 

x          8 
3 0 7 2 8 

 
 
 
 
 

5
4
0
8
4 9 

x          9 
4 5 4 4 1 

 

5
4
2
8 3 0 

x          7 
3 3 8 1 0 

 

3
4 5

1
1 3 

x          6 
2 7 0 7 8 

 

 


